
Napoli - Table
Assembly Instructions - Please keep for future reference

Dimensions

Width - 69cm
Depth - 69cm
Height - 74cm

Important - Please read these instructions fully before starting assembly

If you need help or have damaged or missing parts, call the Customer Helpline: 08456 400800 

Issue 1 - 25/06/12

600/6266
600/6259
600/6273





Components - Panels
Please check you have all the panels listed below

1 Table Top x 1
(69 x 69)cm

Table Top x 4
(73 x 4.5)cm

2

2



Components - Panels If you have damaged or missing components,
call the Customer Helpline: 08456 400800

Please check you have all the panels listed below

Note: The quantities below are the correct amount to complete the assembly for 1 table. In some cases more
fittings may be supplied than are required

C

D

BA

Tools required

Ruler - Use this ruler to help correctly identify the screws

JCBB Screw M8 x 50 x 8

Allen key M5 x 1

Flat washer 5/16” x 8 Spring washer 5/16” x 8

3






